



$$(1) \frac{x_{n+1}}{x_n} = \frac{a}{a+x_n}, \quad \frac{a+x_n}{a x_n} = \frac{1}{x_{n+1}}, \quad \frac{1}{x_{n+1}} = \frac{1}{x_n} + \frac{1}{a}$$

よ、 $n \geq 3$ のとき

$$\frac{1}{x_n} = \frac{1}{x_{n-1}} + \frac{1}{a}$$

$$\frac{1}{x_{n-1}} = \frac{1}{x_{n-2}} + \frac{1}{a}$$

$$+ \frac{1}{x_2} = \frac{1}{x_1} + \frac{1}{a}$$

$$\frac{1}{x_n} = \frac{1}{x_1} + \frac{n-1}{a}$$

$$\frac{x_1}{b} = \frac{a}{a+b}, \quad x_1 = \frac{ab}{a+b} \neq 1$$

$$x_n = \frac{1}{\frac{a+b}{ab} + \frac{n-1}{a}} = \frac{ab}{a+b+n-1} = \frac{ab}{a+b+n}$$

よ、 $n=1$ のときも成立する

$$(2) \frac{F_{n+1}}{F_n} = \frac{x_{n+2} \cdot x_{n+1}}{x_{n+1} \cdot x_n} = \frac{ab}{a+b(n+2)} = \frac{a+b n}{a+b(n+2)}$$

よ、 $n \geq 3$ のとき

$$\frac{F_n}{F_{n-1}} \frac{F_{n-1}}{F_{n-2}} \frac{F_{n-2}}{F_{n-3}} \cdots \frac{F_3}{F_2} \frac{F_2}{F_1} = \frac{a+b(n-1)}{a+b(n+1)} \frac{a+b(n-2)}{a+b n} \frac{a+b(n-3)}{a+b(n-1)} \cdots \frac{a+2b}{a+3b} \frac{a+b}{a+3b}$$

$$\frac{F_n}{F_1} = \frac{(a+2b)(a+b)}{\{a+b(n+1)\}(a+b n)}$$

△ABC の高さを H , F_1 の高さを h とすると $\frac{h}{H} = \frac{a}{a+b}$, $h = \frac{aH}{a+b}$

$$F_1 = \frac{1}{2} \frac{ab}{a+2b} \frac{aH}{a+b}, \quad F_2 = \frac{a+b}{a+3b} \frac{1}{2} \frac{ab}{a+2b} \frac{aH}{a+b} = \frac{1}{2} \frac{a^2 b H}{(a+3b)(a+2b)}$$

$$F_n = \frac{(a+2b)(a+b)}{\{a+b(n+1)\}(a+b n)} \frac{1}{2} \frac{ab}{a+2b} \frac{aH}{a+b} = \frac{a^2 b H}{2 \{a+b(n+1)\}(a+b n)}, \quad \text{よ、} n=1, 2 \text{ のときも成立する}$$

$$\frac{1}{a+b n} - \frac{1}{a+b(n+1)} = \frac{a+b(n+1) - a - b n}{(a+b n)\{a+b(n+1)\}} = \frac{b}{(a+b n)\{a+b(n+1)\}} \neq 1$$

$$F_1 + F_2 + \cdots + F_n = \frac{a^2 H}{2} \left\{ \frac{1}{a+b} - \frac{1}{a+2b} + \frac{1}{a+2b} - \frac{1}{a+3b} + \cdots + \frac{1}{a+b n} - \frac{1}{a+b(n+1)} \right\}$$

$$= \frac{a^2 H}{2} \left\{ \frac{1}{a+b} - \frac{1}{a+b(n+1)} \right\} \quad \text{よ、} n \rightarrow \infty \text{ のとき}$$

$$\sum_{n=1}^{\infty} F_n = \lim_{n \rightarrow \infty} \frac{a^2 H}{2} \left\{ \frac{1}{a+b} - \frac{1}{a+b(n+1)} \right\} = \frac{a^2 H}{2(a+b)}$$